dEdx Analysis with MuDst Sigma:

For this analysis I ran over D0Mix data with no hard cut on dEdx. I added the dEdx calculation (using the MuDst sigma) to the nTuple and also the sigmas(pIdO[0][0],pIdO[1][1] etc.) 

See the sigma distribution here
1. dEdx Vs momenta without any cut
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2. pIdO[0][0]<-2.0&&pIdO[1][1]<-2.0
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3. abs(pIdO[0][0]<(abs(pIdO[1][1] –1)
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4. abs(pIdO[0][0]<(abs(pIdO[1][1] –1)&& pId[0][0]<-2.0&&pIdO[1][1]<-2.0
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5. abs(pIdO[0][0]<(abs(pIdO[1][1] –1)&& pId[0][0]<-2.0&&pId[0][0]>-3.0&&pIdO[1][1]<-2.0
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6. abs(pIdO[0][0]<(abs(pIdO[1][1] –1)&& pId[0][0]<-2.0&&pId[0][0]>-3.0&&pIdO[1][1]<-2.0&&pId[1][1]>-3.5
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7. abs(pIdO[0][0]<(abs(pIdO[1][1] –1)
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8. abs(pIdO[0][0]<(abs(pIdO[1][1] –1)&& pId[0][0]<-2.0&&pIdO[1][1]<-2.0
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9. abs(pIdO[0][0]<(abs(pIdO[1][1] –1)&& pId[0][0]<-2.0&&pId[0][0]>-3.0&&pIdO[1][1]<-2.0
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10. abs(pIdO[0][0]<(abs(pIdO[1][1] –1)&& pId[0][0]<-2.0&&pId[0][0]>-3.0&&pIdO[1][1]<-2.0&&pId[1][1]>-3.5
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11. pIdO[0][0]<-2.0&&pIdO[0][0]>-3.0&&pIdO[1][1]<-2.0&&pIdO[1][1]>-3.5
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12. pIdO[0][0]<-2.0&&pIdO[0][0]>-2.5&&pIdO[1][1]<-2.5&&pIdO[1][1]>-3.5
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13. pIdO[0][0]<-2.0&&pIdO[0][0]>-2.5&&pIdO[1][1]<-2.75&&pIdO[1][1]>-3.5
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14. Invariant Mass plot with SiHits>0,NTotPr<100 and 

pIdO[0][0]<-2.0&&pIdO[0][0]>-3.0&&pIdO[1][1]<-2.0&&pIdO[1][1]>-3.

pIdO[0][0]<-2.0&&pIdO[0][0]>-2.5&&pIdO[1][1]<-2.5&&pIdO[1][1]>-3.5( from 0.5 to 1GeV)
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15. A More tight cut on the Kaon Band

Invariant Mass plot with SiHits>0,NTotPr<100 and 

pIdO[0][0]<-2.0&&pIdO[0][0]>-3.0&&pIdO[1][1]<-2.0&&pIdO[1][1]>-3.

pIdO[0][0]<-2.0&&pIdO[0][0]>-2.5&&pIdO[1][1]<-2.75&&pIdO[1][1]>-3.5( from 0.5 to 1GeV)
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A more tight cut on the Kaon band from 0.5GeV to 1GeV infact reduced the S/N from 15.3 to 12.3

But the dEdx cut using Bichsel Calculation gives an S/N ~20.66


Kaon Band


Pion band looks similar w/o any cuts
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We can try a tighter cut on Kaon band from 0.5 to 1GeV
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S/N ~ 15.3





S/N ~ 12.3





.root files and macros:


~jai2006/jaiby/D0Mix/MuKpi_D0Mix_100files.root (dEdx_bichsel, |nSigma|<2.5)


~jai2006/jaiby/D0Mix/MuKpi_D0Mix_100files_onlyBypass.root(Bichsel pId in the low and high momenta, bypassing particles in the overlapping region)


~jai2006/jaiby/D0Mix/MuKpi_D0Mix_100files.root(dEdx_sigmaMuDst, default cut on pId, #15)








